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distance.
(b) that is easy to operate.

1. (a) that is operated froma+- - (©) A rigid control is one .

B

(d) A remote control is one

2.(a) To waddle is to
(b) To huddle is to

(c) hold a person’sinterest of attention.

(d) curl one's limbs up close to
one’s -b_o.dy .

colony b

compensate A—. 3, (a) A depositis

b

(c) agroup who sattles in a new place.

~ deposit . (b)Acolonyis (d) a payment for a concert ticket.
fascinate
feeble T
formal %“ s
frigid %; 4. (a) To resemble someoné (c) To compensate someone
harsh v (b) is to pay that person. (d) is to apologize to that person.
huddle z
remotie
reéen?l;l: i% . N .
S | 5. (a) one that goes on toolong. (c) onethatis difficult to believe.
rigid . (b) Aformal apology is (d) A feeble apology is
__solitary :
substantial

waddle




6. (a) is not changed easily. (c) A frigid attitude is one that
(b A rigid attitude is one that (d) is no fonger practiced.

7. {a) is unpleasantly rough. (c) is too late to be useful.
(b} A harsh reply is one that (d) A formal reply is one that

8. (a) A fascinating place is one (c) Afrigid placeis one
(b) that is in the tropics. (d) that is very interesting.

9, (a) that is open to the public. (©) A substantial building is one
(b) A solitary building is one (d) that has no others close to it.

10. (a) money. given as a payment. __(c) a path that one follows.

(b) A depositis (d) A waddie is
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1. From a distance crocodiles look almost the same as alligators.
--— 5. Sarita’s wind-up toy swayed from side to side as it took short steps
' across the floor. I o

3. A life that is lived apart from other people need not be Ionély as
long as one has books to read.

4. A very cold mass of air from Ca-na‘dé caused this wintry weather.

5. The cast on your broken arm will keep it in a fixed position and
prevent it from bending.

6. The most strongly pbuilt of the three houses was the one made
of bricks.

7. These patients recovering from operations are sO lackingin strength
that they cannot walk.

| colony 3. Meetings with the emperor are very carefully arranged so as to
|l compensate follow strict rules.

deposit ¢ _

|l fascinate @ 9. I the very distant past all the continents were joined together..
feeble :
formal - 10. After playing in the SNOW all day, we crowded close together around

1| frigid__ the fire to get warm. .

_harsh

huddle =~

substantial

\\ waddle




1, Which of the foilowmg can be compensated?
(a) an injured person : (c) aperson suffering a loss
(b) a worker (d) a victim of a crime

2. Which of the following might be formal?
{a) a joke (c) arequest
(b} a dance : (d) a bow

3. Which of the following might be substantial?
(a) a meal (c) a sum of money

(b) the horizon | (d) a purchase
4. Which of the following can be found in colonies?

..——.{a) settlers e (c) ants__ —
{b) islands : (d) mountains

A

5. Which of the following can be deposited?
(@) moneyina bank (c) answers on a test
(b) eggs in a nest (d) books on a table

6. Whlch of the following resembles a horse?

(a) azebra (c) a mule
(b) a giraffe (d) a donkey .

7. Which of the foliowing moves with a waddle?

(a) a snake (c) aduck
(b) afrog (d) an ostrich

8. Which of the following can be harsh"
(a) aclimate (c) a voice.
(b) a punishment (d) a reward

T1YDNdNA LON G- IS5 @
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84 Lesson 7

2. agony
3. feéble

4, escalate

. 5. deposit

6. rigid
7. fascinating
8. frigid

9.steadfast

10. loathe

disloyal

flexible
withdraw
fall

burly
gentle

boring
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5) COACHED EXAMPLE
a-n-.mun D-.n—.o_..m m.i_n ey

mm a :s_ncm mE_m Ancauthor’s ﬂ<_m is Emam .._v o.m } o
nd: mmﬂmznm mﬂcﬂca. Notice =~ R o T ...wxnmﬁﬂm& Jrom

: How the Rhinoceros Got ,mwm,m_cs

‘Read the passage.

by mﬁ&si Kipling

Once upon a time, on Ep chbm_u:mm isiand on the shores of the
Red Sea, there ] lived a Parsée.! . . . And the Parsee lived by the Red
Sea with nothing but his hat and his knife and a cooking-stove. ...
¥ Ohe day he took flour anid water-apd currants mhmuﬁﬁﬂm and sugar
z and things, and made himself one cake. . .. Butjust as he was going

to eat it there came down to the beach . . . one Rhinoceros with a

o horn on his nosé, two piggy eyes, and few manners. In those days
IR P . the Rhinoceros's mﬁb‘mﬂmm Hirn quitetight. There were no wrinkles
nd other . P . init anywhere..., The Parsee Jeft that cake and climbed to Em top
. . of apalm. ... And the Rhinoceros .. . spiked that ¢ake on-the horn
of his nose, .EE li€ ate it, and he went away, waving his tail. ... Then
the Parsee camé down from his vmhphﬂmm and put &m.mﬁodm i its
legs mbn Hmnmm@,.mwm following .. .

m-.u nd no:»qwmu:.u n_.m chl -m._.,
m can :m_v <oc ca_um_d m:m no:‘n_\mﬂ.m_”o:mm.

Because, five weeks later, there wadd heat wave in the Re mmm
.. The Rhinogeros took off his skin and, carried it-over his sh
o the beach to ba : .Hu those Qmﬁ it dﬁﬂ fed

that %E_Emﬂ 2:: of oE &s stale,
ever it caE @o &UE WoE ﬂhmﬁ Wm_n

1 Parsee: an old-fashioned word Em.mbmbm “spmeone from .mﬁ.mmm:

48 Strand: 1 Working with Litérature
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story or somecde |-

the -action?

the-Whale
at Man?

Reading Guide

S‘_._m* does the Whale
swallow with the

" Mariner?

What kind a* _msmcmmm

. doss the mE:E usein .

Then the Whale opened his mouth back and back arid
back #ill it nearly touched his tail. . . . And he swallowed
the shipwrecked Mariner, and the raft hie was sitting on,
arid his blue canvas breeches, and the susp enders, . .. and

.the jac! _Q:mm He swallowed thém all down into his Warts,

nm.&@ inside cup-boards, and then he smacked his lips. .
;' Butas mooﬂ asthe Marine . found himself truly Emam
] i ide:gup- _uo.mam, he stumped

. .“mnn he E.Eﬁmm..mbm he thumj nd he bumped. . . . And

he wmmnn@m and he danced, and rm banged and he Qmﬂmma.
... And thie Whale feit most unhappy indeed. .
So hesaid to the .mHﬁm m..wmr “This man i§ very uﬁww?

white-cliffs- oﬁ&@

own of Dover, I
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" Answer the following n_....mmmor..mmro:n both passages in this lesson.

°.. EJ_% wmﬁm.a.m;ﬂmmﬂmoanmw S .,u.oi.n of view qgf'both passages?
« A Both stoies are told i first perso “ o L
B. Both stories are told in third person.

One story is told inthird persori, and one story is told in first person. -

C
D. Nefther story has.a point of view.

, 0 How does the Mariner punish the Whale? Use details from the text Bpmcuvon
your-answer. , , , :

@ Which of the 3_623@ is'atrue mmmmmamﬂ about how the .mjw:on‘m&mﬂ.m:a the
o Whale are alike? Choose all that apply. - ' R
o Both animals.are greedy. ‘ = . N
Both animals .mﬂm..mﬂm%:@..m:a ammumﬂmhﬂ..
Bothr animals aré ..mgm_E of stealing. .
Both ariimals lear  lasson, .
" Both animals ea .m.om:mﬁ.z.:m they shouidn t have-eaten.
Both animals get .mw_<mnm from a fish. .
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@ c:am;:m the *_@Em e _m:ucmmm in gach sentence: ,._..j.”.w:“":,.m.ﬁn:_ ha sentence to the

Enm ‘of *,mcqwﬁem anguige on the right.

O ._..:m.w.m:mwgo:. has-two parts. First, answer Part A. Then, answer Part B.

Which best states the ﬁ:m.&m‘_.& the I'frofn the story wm.m"w..mmmvoa.

ion to 3 problem can Mato, but flow it was
- ot a prison. that mocked any thought they

oy become a problem itself:
mmmma o: ﬂ:m mﬁmm_.mv?......‘... . ... : p. .,_.:m_‘m are aften m_:.__u_m. : . ,
. ... . , . . .., ; n nat give up his Bmm_. S0
,.. “. . ,. r,an
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Answer the following n_tmm.mo:m.

This ncmmﬂo: _:mm dao Umim First, answer Part A, Then, answer Part B.

Part A :
Which of these mnmﬁmam:m ammﬁ.nmmn:_umm Mia's *mﬁrma
- P Hej mocammo& and a risk- Hmwmﬂ

" B. ventive msa self-ass

honest but can be _jno:m_amaﬂm.

@ mmma..%_ mxnmwﬁla_,: “Dee he Amazon.”

i Eo:am_.mm how. .Eoc_n take 10
to. Snakes and i
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Correct these sentences. - ' :
1. after it rang four times capt ruiz finally answered his phone

2. hour trip will last from may 29 1998 until aug 29 1998

Give the possessive houn.

3. the purses of the ladies

Use this homophone pair in one senfence. (rows, rose)

4.

Fact or opinion?

5. People should never pierce their ears.

©2004 Evan-Moor Corp. * Daily Language Review, Grade 5 « EMC .

Daily Lang' uage Review
v [ Nome:

Give the comparative and superlative forms of “angry.”

1.

Which part of speech is underlined - noun, verb, adjective, or adverb?
2 The ancient barn on Grandpa’s farm is beginning to collapse.

Correct the sentences.
3. after working for ate hours george and tyrone was exhausted

" 4. dad taked both familys to pizza palace after the movie

What is the correct way to divide the word into syllables?
5.regular reg u lar - reg vl ar re gul ar

©2004 EvanMoor Corp. * Daily Language Review, Grade 5 « EMC 583
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Correct these sentences.
1. to be successful you gotta work really hard

9 ms thomas his secretary is on vacation in tampd florida

Complete the analogy.

3. pachyderm : elephant :: crocodilian : .-

Suffix or prefix?

4. population , —

5. disregard

Baily Languége Reoview : . . |
MName: : : -
( . o Thursda

Cirdle the cause and underline the effect.
1. Once the water begins to boil, Mother’s teakettle whistles.

What reference source would you use to find an antonym for “clever”?

2. ‘ .

Correct these sentences.
3. prof tanaka has forgot hes giving d lecture tomorrow at 830

4. does your brothers get along very good - '

Choose the correct date fo complete the sentence.

5. 1 was born on S __at Queen of Angels Hospital.
May 20 1986 May 20, 1986,  May 20, 1986




gﬁ‘Ssﬁlﬂ ‘E@ i : ‘) L. 5 5b: Recogmze and explain the

4

. meaning of common idioms, adages, and

Idioms, Adages and B
Proverbs | B

g‘}_d o English, like all languages, is full of odd expressions and old sayings.
When you learn their meanings, you'll find that much of what you read becomes more

interesting.
» Anidiom is a common say:ng with a meamng different from that of its individual words.

\ ery easy

Ivan Iooked at the wobbly wheel on my
bike. “That will be a piece of cake to fix!"”

| he said.

« Adages and proverbs are well-known sayings that have been used for a long time.
Proverbs usually give practical advice about ways to behave and live.

Adage: “I'lt help you repair the wheel It's easier for two people to solve a
because two heads are better than one.” | problem than for one person to do so.
Proverb: “Let’s fix that wheel now. After | It's best to solve a small problem now

all, a stitch in time saves nine.” before it turns into a bigger problem later.

Practice | Read the passage, Underline each idiom, adage, or provetb. Then,
above each phrase you underlined, tell what you think it means. One
has been done for you.

feeling bad
[ was down in the dumps when my new bike broke. The bike had

| & Guide

EIERET If the literal
meaning of a phrase
doesn’'t make sense,
use context ciues to
help you understand the money to buy it. | hoped that lvan could fix my bike. He spends
what the words
might mean.

cost an arm and a leg, and it had taken me forever and a day to save

day and night repairing things and says that practice makes perfect.
That’s why he can fix almost anything. When Ivan fixed my bike,

{ was on cloud nine!

474 Language Handbook Lesson 19 Idioms, Adages, and Proverbs @Curriculum Associates, LLC  Copylng is not permitted.




For numbers 1-4, answer the questions.

@ Read these sentences.

Ivan and his dad like to fix things. lvan
said, “l guess the apple doesn't fall far
from the tree.”

What does the underlined adage mean in
the second sentence?

A Ivan and his dad have similar interests
and abilities.

B Ivan and his dad spend their time
together fixing things.

C Ivan and his dad are slowly becoming
very similar people.

D Ivan and his dad climb trees to pick
and toss down apples.

ﬂ Read this sentence.

I was afraid to tell Mom that | broke the
TV, but | know that honesty is the best

policy.

What does the underlined proverb mean in

this sentence?

A Telling the truth is difficult to do.

B Telling the truth is the right thing
todo.

C Honesty does not come naturally to
most people.

D Honesty causes problems for people

who are close to each other.

@Curriculum Assaciates, LLC  Copying is not permitted.

&1 Read this sentence.

What does the underlined idiom mean
in this sentence?

A

P8 Read these sentences.

What does the underlined adage mean
in the second sentence?

A

Language Handbook Lesson 19 {dioms, Adages, and Proverbs

Mom hit the roof when | told her that
| broke the TV.

ivan fixed our TV, so | am planning a
surprise party to thank him. If you see
Ivan, don't let the cat out of the bag.

Mom thought that the TV had
fallen off the roof.

Mom jumped happily about the TV
being broken.

Mom thought the story of the
broken TV was a joke.

Mom was angry when she heard
that the TV was broken.

Nobody else should plan another
party to thank Ivan for fixing
the TV,

Nobady should tell lvan about the
party being secretly planned for
him,

Only those people specifically
invited to the party should come
to the party.

People should keep the cat away

from the party because lvan is
allergic to cats.

475
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Rl 5 1 Quote accurately from atext when exptainmq what. the textsays expllcutly and 0
L when drawmg |nferences from the text - i ] D

¢ Introduction

Lesson
Using Details to
Support Inferences

P 7};”"

» Read When you read, you can look for what an author says directly.
You can also use what you already know and details from the text to
come up with your own ideas about what the author is saying. This
process is called making inferences.

You should always be able to support an inference with evidence.
Quotes from the text are a strong form of evidence.

Look at the picture below. Make an inference about what just
happened. Then circdle any evidence in the picture that supports
your inference.

Where did |

38 Lesson3 Using Detaills to Support inferences ©Currlculum Assoclates, LLC  Copying Is not permitted,




 Theme: Adventures and Discovery  Lesson3

D’ Think What have you learned about making inferences? Use the chart
below to help you develop and support an inference about what happened

to the boy's steak.
What's in the | What I K A
at's in the Image at | Know
(Evidence) (Experience) My Inference
N J

D Talk Share your chart with a partner.
» Did you both make the same inference?
» Did you both select the same evidence in column one?
« What information did you each add to column two?

| (@) Academic Talk
|  Use these words to talk about the text.
« inferences » evidence + quotes

:mk\m“\_’_ RS D S e A I B S T T L e G S S i SIS e

©Curriculum Assoclates, LLC  Copylng is niot permitted. Lesson 3 Using Details to Support Inferences 4
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by Marcus Lim

1 The year is 1405. The place is China, where the Yangtze River empties
into the Pacific Ocean. Floating on the river is the mightiest fleet the world
has ever seen—more than 300 boats with nearly 30,000 sailors, The largest
ships, called Treasure Ships, are more than 400 feet long—far larger than
the greatest European boats of the day. The ships will sail the Indian Ocean,
visiting ports along the lands we know as Indonesia, India, and Africa. Who
commands this fleet? Admiral Zheng He.

2 Born in 1371, Zheng He (pronounced Jung Huh) was forced to join the
Chinese army at age 10. He became not just a soldier and sailor but alsoa
diplomat!, speaking with foreigners on behalf of the Chinese government.
'That is why Zheng He was made leader of the fleet. Not only could he
represent his government politely—he could also back up his politeness
with force.

3 So why did China send Zheng He and his fleet to sea? In the early 1400s,
China was growing rich and hungered for goods from faraway lands. To feed
that hunger, the government built its fleet. But although Zheng He was a
military man, his fleet came to trade, not to conquer, When they left Chinese
shores, the Treasure Boats were heavy with silk and porcelain and jade. They
returned laden with foreign goods: wood, gold, spices, and medicines. They
even brought back odd animals—what we now call ostriches, zebras, camels,
and giraffes. Zheng He took China out into the world, and he brought the
world back to China.

4 Zheng He died in 1433 during his seventh voyage. For reasons
not fully clear, a new emperor stopped the trading expeditions When you reread the
and ordered records of Zheng He's travels destroyed. But enough biography, circle words

— information remains to make one fact clear: Zheng He was one of that tell the roles Zheng

the most marvelous sailors of his age. He played, and

a | underline evidence of
how his travels might have
changed the world.

1 diplomat: a person who travels abroad on behalf of a government

40 Lesson 3 Using Detalls to Support Inferences ©Curriculum Associates, L1C  Copying s not permlttej_d:



 usingDetails toSupport Inferences Lesson3

Exlore . What inference can you make about how Zheng He
affected the world’s knowledge of China?
P Think For the “What | Know”
- column, think about
@8 Complete the chart below with quotes and details from the text. it will the roles leaders,
help you support your inferences with textual evidence. diplomats, and traders
play in the worid.
7 N
What's in the What [ Know My Inferen
Text (Evidence) (Experience) y Interence
\ Y

P Talk

B3 Share your charts. Did your partner provide evidence in “What | Know”
that you didn't? if so, what was it? Add details to your chart if needed.

]

1,

Write

Short Response What inference can be drawn about how Zheng He FUNT First, state
affected the world's knowledge about China? Support your answer with ~ your inference. Then

guotes from the passage. Use the space provided on page 44 to write provide quotes from
your answer. the text to support it.

< &f}g”"‘

/
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* Genre: History Article

by Edward Castillo

1 People have dreamed of flying since the beginning of time.
An ancient Greek myth tells of a boy and his father who flew
with wings made of wax and feathers. But the invention of the
kite marks the true beginning of flight history. Kites were first
flown in China around 400 B.c.r. Around that time, people
began to study the science of flight.

2 For centuries, inventors built mechanical wings, attaching
them to their arms. These efforts failed, but people still searched
for ways to fly. During the 1480s, Leonardo da Vinci made
more than 100 sketches of flying machines, which would later
influence other inventors.

3 In 1783, the Montgolfier brothers built the first hot-air
balloon. The balloons passengers were a sheep, a rooster, and
a duck. The brothers solved the problem of lift, but the balloon
did not allow riders to move forward or steer.

4 In the 1850s, George Cayley hoped to achieve controlied
flight. His glider designs shaped the work of Otto Lilierthal.

In 1891, Lilienthal became the first person to launch a manned
glider. He wrote a book about his experiments, which inspired
two brothers from Ohio, Orville and Wilbur Wright.

5 'The Wright brothers tested many flight theories with
balloons and kites. Their 1902 Wright Glider could be controlled
with a movable tail. But their greatest accomplishment was
adding an engine to lift their glider into the air.

6 On December 17, 1903, at Kill Devil Hills in North Carolina, other. later inventors?
the Wright Flyer first flew. Orville Wright was the first to Reread the article.
successfully pilot a motorized flight. Underline details that

tell how some inventors
influence other inventors.

Do the ideas and actions
of inventors influence

- 42
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Think Use what you learned from reading the history article to respond to
the following questions.

@ This question has two parts. Answer Part A. Then answer Part B.

PartA
Which inference is best supported by the passage?

A Inventors learn from the work of others.

B Inventing is much easier than it used to be.

C Most inventors try to keep their ideas from being stolen.

D Some inventors are geniuses who don't need help from others.

PartB
Which two sentences from the text best illustrate the inference in Part A?

A “People have dreamed of flying since the beginning of time.”

B “In 1783, the Montgolfier brothers built the first hot-air balloon.”
C “His glider designs shaped the work of Otto Lilienthal.”
D

“In 1891, Lilienthal becarne the first person to launch a manned
glider.”

E “He wrote a book about his experiments, which inspired two
brothers from Ohio, Orville and Wilbur Wright.”

F  "Orville Wright was the first to successfully pilot a motorized flight.”

P Talk

B The technology of flight improved greatly in less than 150 years. What
evidence from the passage supports this idea? Use the chart on page 45
to collect quotes from the passage and organize your thinking.

€0 shortResponse What evidence from the passage supports the idea
that the technology of flight improved greatly in less than 150 years? Use
quotes from the passage in your response. Use the space provided on
page 45 to write your answer.

Use quotes to
support your
inferences. Otherwise,
your inferences will
seem like guesses.

HIUBET First, restate
the idea from the
question. Then
provide the evidence
supporting that idea.
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7 Write Use the space below to write your answer to the question on page 41.

EURNT First, state
your inference,
Then provide
quotes from the
text to support it.

Short Response What inference can be drawn about how
Zheng He affected the world’s knowledge about China?
Support your answer with quotes from the passage.

Check Your Writing
(1 Did you read the prompt carefuily?

N .. [ Did you put the prompt in your own words?

Don't forget to {] Did you use the best evidence from the text to support your ideas?
check your writing. [J Are your ideas clearly organized?

(J Did you write in clear and compilete sentences?

O Did you check your spelling and punctuation?
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Use the chart below to organize your ideas and your evidence.

What's in the Text What | Know fo
{(Evidence) (Experience) My Inference
Write Use the space below to write your answer to the
" question on page 43. BHENT First, restate

Short Response What evidence from the passage supports the
idea that the technology of flight improved greatly in less than
150 years? Use quotes from the passage in your response.

the idea from the
question. Then
provide the evidence
supporting that idea.




WORDS TO KNOW
As you read, look
inside, around, and
beyond these words to
figure out what they
mean.

» annex

» disorder

» feeble

DISCOVERING KING TUT’S
INCREDIBLE RICHES

1 It’s pitch black. His hands trembling, British
archaeologist Howard Carter makes a small hole in the
tomb’s second door. He inserts a candle. Next to him,
Lord Carnarvon blurts out, “Can you see anything?”
After a moment of stunned sitence, Carter replies, “Yes,
wonderful things.”

2 What Carter sees looks like the inside of a giant
treasure chest. Gold gleams everywhere! There are
glittering statues, a throne, and fabulous golden beds with
posts shaped like the heads of wild animals. Precious
items are heaped all over the room. A mound of chariot
parts fills one corner.

3 It has taken five years of digging in Egypt’s Valley
of the Kings—a graveyard for ancient Egypt’s richest
kings—and $500,000 (in today’s money) of British
millionaire Lord Carnarvon's cash, but Carter has hit the
jackpot. He has discovered the tomb of Tutankhamun

(often called Tut for short). Tut had become pharaoh at

age nine and died just ten years later around 1323 s.C.
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4

Carter, Lord Carnarvon, and two others enter the cluttered first room,
which they call the antechamber. Under a bed with posts in the shape
of hippopotamus heads, Lord Carnarvon finds the entrance to another
room. Soon known as the annex, this tiny chamber holds more than 2,000
everyday objects. They include boomerangs, shields, a box containing eye

- makeup, and 116 baskets of food. Some of the piles reach nearly six feet

high! When Carter clears the annex out later, his workers are suspended by
ropes at first to keep from stepping on things.

The disorder in the annex indicates ancient grave robbers had looted
the tomb. They left behind footprints and a bundle of Tut’s gold finger-
rings hurriedly wrapped in cloth. Luckily, theyd been caught and the tomb
resealed. That was more than 3,000 years ago.

The explorers are fascinated by two tall statues in the antechamber
showing Tut dressed in gold. The figures seem to be guarding yet another
room. Sweltering in the heat, the group crawls through a hole created
by the ancient robbers. Before them stands a huge wooden box, or
shrine, that glitters with a layer of gold. This room must be Tut's
burial chamber! At the very center of the shrine is a carved
sarcophagus, or stone coffin. Inside it are three nested
coffins, each one more richly decorated than the one
before. Inside the last coffin, made of solid gold, lies
the mummy of Tutankhamun. A 22-pound gold mask
covers its head and shoulders. A collar made from 171
separate gold pieces rests on the mummy’s chest. It
wears gold sandals on its feet.

On one side of the burial chamber is an open
doorway. It reveals the fourth room of the tomb,
this one so full of riches that Carter dubs it the
treasury. Towering over the other objects is a gold-
covered shrine protected by statues of goddesses.
The shrine holds Tut’s liver, lungs, stomach, and
intestines. Each vital organ is preserved, wrapped
in linen, and placed in its very own small coffin.

Today about 2.5 million people visit Egypt’s
Cairo Museum each year to see Tut’s treasures on
display. The ancient Egyptians believed that “to
speak the name of the dead is to make them live
again.” If that is true, Tutankhamun certainly lives on




CURSE OF THE MUMMY
9  On April 5, 1923, Lord Carnarvon died suddenly in Egypt. At
that same moment, lights went out all over Cairo. In England, Lord
Carnarvon's dog, Susie, howled and died.

10 Newspapers claimed that these events were caused by King Tut’s
“curse” According to the newspapers, Tut’s burial chamber contained a
warning: “Death shall come on swift wings to him that toucheth the tomb
of the Pharaoh”

11 It was a chilling story. But was it true? Actually, there was no warning
in Tuf’s tomb. The papers made up that part. Skeptics' say the events have
other explanations. Lord Carnarvon had been in poor health for years.
Caird’s feeble electric system caused lights to wink out all the time. And
dogs sometimes do die unexpectedly.

12 Only 6 of the 26 people who saw the opening of Tut’s burial chamber

died within the next ten years. Howard Carter, who should have been the

most cursed of all, lived until 1939—17 years after coming face-to-face
with Tutankhamun’s mummy.

1 Skeptics: people who doubt and have disbelief
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Think Use what you learned from reading the history article to respond to
the following questions.

@8 Which sentence from the article best supports the inference that one
custom of the ancient Egyptians was to preserve bodies after death?

A
B

C

D

Part A

“A mound of chariot parts fills one corner.”

“Soon known as the annex, this tiny chamber holds more than
2,000 everyday objects.”

“A collar made from 171 separate gold pieces rests on the
mummy’s chest.”

“The shrine holds Tut’s liver, lungs, stomach, and intestines.”

B3 This question has two parts. First, answer Part A. Then answer Part B.

What is the meaning of suspended as it is used in paragraph 4 of the

article?
A

B
C
D

PartB

fioated
swung
carried
waited

Which phrase from paragraph 4 helps the reader understand the
meaning of suspended?

A

B
C
D

*...Carter clears the annex out later,...”
“...byropes...."
“, .. which they call the antechamber.”

“ ..a box containing eye makeup, and 116 baskets of food.”

B Which paragraph best supports the idea that finding King
Tutankhamun's tomb required a lot of time and money?

A

B
C
D

paragraph 3
paragraph 5
paragraph 9
paragraph 12
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50

€0 This question has two parts. First, answer Part A, Then answer Part B.

Part A
What can you infer about the author’s point of view regarding the
events of April 5, 1923, described in paragraph 9?

A The events prove that King Tut's “curse” was real.

B The events probably were a coincidence.

C The events served as a warning about entering the tomb.

D The events should have been investigated as crimes.
PartB

Which two sentences from the article best illustrate the inference you
made in Part A?

A “On April 5, 1923, Lord Carnarvon died suddenly in Egypt.”
B “Lord Carnarvon had been in poor health for years.”
C “Newspapers claimed that these events were caused by King
Tut's ‘curse.”
D “It was a chilling story.”
“In England, Lord Carnarvon’s dog, Susie, howled and died.”
F “Actually, there was no warning in Tut’s tomb.”

#3 Read the sentence and the directions that follow.

The ancient Egyptians believed they could take the things they used
in their daily lives with them to the grave.

Underline the sentence from the paragraph below that best shows
this idea.

Carter, Lord Carnarvon, and two others enter the cluttered first room,
which they call the antechamber. Under a bed with posts in the
shape of hippopotamus heads, Lord Carnarvon finds the entrance to
another room. Soon known as the annex, this tiny chamber holds
more than 2,000 everyday objects. They include boomerangs, shields,
a box containing eye makeup, and 116 baskets of food. Some of the
piles reach nearly six feet hight When Carter clears the annex out
later, his workers are suspended by ropes at first to keep from
stepping on things.
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€3 short Response What inference can be drawn about how ancient
Egyptians felt about the bodies and belongings of their dead pharaohs?
Support your answer with evidence from the text.

In this lesson, you practiced making inferences and supporting
them with quotes from the text. Explain how these skills can
help you develop a better understanding of any informational

text you read.
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_j 1 Leah bought 6 limes for a cost of $0.30 each. The model represents the situation.
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Which equation shows how to find the total cost in dollars and cents of the limes Leah bought?

A 6x3=18.00 € 6 x 30 = 180.00

B 6x0.30=1.80 P 6x0.30=0.18

] 9 Ralph used this model to represent 1 whole.,

It

Which model represents 1.6 X 37
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| B nis 2 Y (8 ) (@ )
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? A bag of fertilizer has a mass of 6.25 kg. What is the mass of 20 bags of fertilizer in kilograms?

A 125kg B 134 kg € 12.5kg D 26.25kg

Multiplying Decimals Grade 5




“ Noelia downioaded 14 music videos onto a
device. Each video was 6.2 megabytes. How
many megabytes of memory did these music
videos use on Noelia's device?

Jared’s little sister weighs 23.8 pounds. Jared
weighs 4.6 times as much as his little sister.
What is Jared’s weight in pounds?

F 84.28 megabytes A 2840
G 86.8 megabytes B 92.481b
” II 84.2 megabytes € 109.48 Ib
J 20.2 megabytes j 1,094.8 Ib
6 Mrs. Fletchéf bought 36 activity books for 1 Aéron used 4.5 cahs of Eofnéto éaucé ina pd’c

her prize box at school. Each activity book
cost $2.45. How much did Mrs. Fletcher
spend on these activity books?

B $74.90
€ $38.45
M $22.05

J 4$88.20

of vegetable soup. Each can contained 1.4
cups of sauce. How many cups of tomato
sauce did Aaron use in the vegetable soup?

A 5.3 cups

B 22.5 cups

€ 5.9cups

D 63 cups

@ The model is shaded to represent the multiplying of two numbers.

F 0.06 x 0.04 = 0.024

€ 0.60 x 0.40 = 0.24

Which equation can be represented by the shaded parts of the model?

¥ 0.06 x 0.04 = 0.24

J 6xa=24

Multiplying Decimals

Grade 5




SUPERSHEET

PATE: ____ |

1 Use the table to answer questions 1 and 2.

Marisol has three containers with different types of juice. The table shows the volume of juice in
| each container.

Marisol’s Juice

Apple 0.758

Grape 0.739

Orange | 0.8

Which list shows the juices in order from 9 What comparison of Marisol’s juice volume is
-~ least to greatest volume in liters? : NOT true?
A Apple, Grape, Orange F Apple juice < Orange juice
'. Orange, Apple, Grape G: Grape juice > Apple juice
C Grape, Apple, Orange I Orange juice > Grape juice
D Orange, Grape, Apple J  Apple juice > Grape juice
| % Which comparison is NOT true?

A 7.482 > 7.396 € 2573<264

B 4793<4.8 P 8.629>8.71

4 Mrs. Grahanﬁ’s.hoﬁse payment Was two fhdusand.féu.r-hu”ﬁdred éevén ddllérs and fhirty;eight
cents. How is this number written in expanded notation?
F (2 x1,000) + (4 x 100) + (7 x 1) + (3 x 0.01) + (8 x 0.001)
€ (2 x1,000) + (4 x 100) + (7 x 10) + (3 x 1) + (8 x 0.1)
H (2 x1,000) + (4 x 100) + (7 x 1) + (3 x 0.1) + (8 x 0.01)

J (2 x1,000) + (4 x 10) + (7 x 1) + (3 x 0.01) + (8 x 0.001)

Represent and Compare & Order Grade 5



15 The table shows the Iength of four great white sharks
Great White Shark Lengths

21.5 21.09 21.4

Which inequality correctly compares two of these shark lengths?

A2109>215 B2135<214 C2135<2109 bz14>215

6 Moily, a Shar-Pei dog, wenghs 60.75 pounds Which expression shows 60.75 in expanded form?
1 1
F 6x10+7x (355 + 5 % (1,500 M 6x1+7x () +5 % (750

1
Gfi><10+7><1+5><(10) .|_6>.<10+7x(-1-%)+5x(—1.—o~d)

7 Which comparison is correct?
A 5.029 > five and four-hundredths
B ox 100+4x1+2x—i%+8x1—'%0—0<904.076
€ 7x10+3x -1-%—5 + 2 X T;%ﬁ < seventy and one-tenth

D Efghty -three and forty -two hundredths = 83.042

| ] Emlle is comparing four recipes for homemade bread

¢ The recipe for white bread calls for 0.4 kg of flour.
e The recipe for wheat bread calls for 0.395 kg of flour.
e The recipe for rye bread calis for 0.385 kg of flour.
¢ The recipe for sourdough bread calls for 0.04 kg of flour.

Which bread recipe takes the greatest amount of flour?

F White bread G Wheat bread H Rye bread J Sourdough bread

g Llndsay compared the vatues of these decimals.

| 0.3 0.003 0.03 0.030
Which statement correctly compares two of these humbers?
A; 0.003 = 0.030 B 0.3<0.03 € 0.03 <0.003 P 0.3>0.030

Represent and Compare & Order Grade 5



The shaded part of the modet represents the fractlon of a cake chky ate a fractlon of the cake,
as shown by the X on the model.

- Which expression does the model represent?

a 9 i 1
A5 -3 ce 2

7 1 7 1
Bz Pts

? cameron bought a fence to enclose his rectangular yard. He put up % of the fence on Tuesday.

One Wednesday, he put up %— of the fence, and on Thursday, he put of the rest of the fence. What
portion of the fence did he put up on Wednesday? ;

Ol WIW
win ;o ;i

- Last month Mr Sims drove his school bus 3,597.8 miles. That brought the total mlleage for the
bus to 98,394 miles. What was the total mileage for the bus before last month?

A 94,796.2 mi B 101,991.8 mi € 95,203.8 mi P 94,807.2 mi

1 3
4 On the playground a bench is located 18—2- feet due north of the slide. The swings are located 93
feet due south of the same slide.

What is the distance in feet between the bench and the swings on the playground?

3 1 1 4
F 87 feet G 97 feet H 28 feet J 277 feet

Add and Subtract Rational Numbers Grade 5



5 Nathan finished a cross-country race in 51.8 minutes. Jake finished the race 7% minutes sooner
~ than Nathan finished it. How many minutes did it take Jake to finish the race?

A 44.7 minutes B 58.9 minutes € 56.7 minutes P 45.7 minutes

[ 6 Liz wants to buy a poster at the book fair that costs $5. Liz found 2 dollars and 9 cents in her
~ purse and 85 cents in her backpack. How much more money does Liz need to buy the poster?

F 3$3.94 € $1.25 H s2.06 J $2.94

:. T The table shows the heights and masses of a male red kangaroo and a female red kangaroo at a

wildlife park.
Red Kangaroos

Based on the table, which statement is true?

A The combined height of the male kangaroo and female kangaroo is 7.05 ft:
B The mass of the female kangaroo is 125.25 Ib less than the mass of the male kangaroo.

€ The combined mass of the male kangaroo and female kangaroo is 150.6 Ib.

Melinda bought a sandwich for $4.50, a banana for $1.99 and a bag of chips for $0.68. She paid
with a $10 bill. How much change did Melinda get back?

F s2.83 G $7'.'17 H s1.83 J 3$4.75

Add and Subtract Rational Numbers Grade 5



Standard

5.NF.1

Rationales

Incorrect. The student likely has an incomplete understanding of how to use pictorial
models to represent subtraction of fractions with unequal denominators referring to the
same whole,

Correct. The student likely understands how to use pictorial modeis to represent
subtraction of fractions with unequal denominators referring to the same whole.

Incorrect, The student likely has no understanding of how to use pictorial models to
represent subtraction of fractions with unequal denominators referring to the same whole.

Incorrect. The student likely understands how to use pictorial models to represent
fractions with unequat denominators refarring to the same whole, but the student did not
recognize that the math action was subfraction and selected an addition expression with
the same two fractions.

5.NF.2

If;lco;'rect. The student likely did not get common denominators before adding the
actions.

incorrect. The student likely does not understand how to add and subtract fractions.

Incorrect. The student lkely added the fractions in the problem together but did not
subtract their sum from 1.

Correct. The student likely understands how to add and subtract fractions.

5.NBT.7

Correct. The student likely understands how to subtract multi-digit numbers, how to
subtract a decimal from a whole number, and the math action of the situation.

incorract. The student likely understands how to add multi-digit numbers and how to add
a tcliject:.imal to a whole number, but fikely does not understand the math action of the
situation.

Incorrect. The student likely understands where the decimal is for a whole number, to line
up decimal when subtracting, and the math action of the situation, but likely does not
understand how to subtract numbers in general and simply started with the greater digit
for each subtraction.

incorrect. The student likely understands where the decimal is for a wheole number, to iine
up decimal when subtracting, and the math action of the situation, but made muktiple
mistakes when subtracting.

5.NF.2

Incorrect. The student likely understands how to subtract mixed numbers with unlike
deneminators (aven when borrowing), but likely does not understand the math action of
the situation or the phrases “due north® and “due south”.

Incorrect. The student likely does not understand the math action of the situation or the
phrases "due north” and “due south”. Furthermore, the student likely tried to subtract the
mixed numbers and did this calculation Incorrectly.

Correct. The student likely understands how to add mixed numbers with unlike
denominators, the phrases “due north” and “due south”, and the math action of the
situation.

incorrect. The student likely understands the phrases “due north” and “due south” and
the math action of the situation, but likely does not understand how to add two fractions
with unlike denominators. :

S.NBT.7

<] Comect. The student likely understands how to write a mixed number with a denominator
i1 of 10 as a decimal, how to subfract decimals, and the math action of the situation.

Incorrect. The student likely understands how to write a mixed number with a
denominator of 10 as a decimal and how to add decimals, but likely does not understand
the math action of the situation. This answer could be obtained by adding the two glven
numbers.

Incorrect. The student likely understands how to write a mixed number with a
denominator of 10 as a decimal and the math action of the situation, but likely doss not
ung{srst?nd how to subtract numbers and simply started with the greater digit for each
subtraction,

Incorrect. The student fikely understands how to write a mixed number with a
denominator of 10 as a decimal and the math action of the situation, but made a
computation error when subtracting.




Standard

5.NF.1

WIPERSHE

Rationales

Incorrect. The student likely understands how to correctly write dollars and cents as
decimal numbers (even when there is Jess than 10 cents), how to add decimals invalving
money, the math actions of the sityation, and mulfi-step problems; however, the student
likely does not understand how to borrow whan subtracting and simply started with the
greater digit for sach subtraction.

Incorrect. The student likely understands how to add and subfract decimals involving
money, the math actions of the sltuation, and multi-step problems; however, the student
likely does not understand how o correctly write dollars and cents as decimal numbers
when there is ess than 10 cents. This answer can be obiained by writing the $2.09 as
$2.90 and making no other mistakes in the actions needed for this problem.

Correct. The student likely understands how to correctiy write dollars and cents as
decimal numbers (even when there is less than 10 cents), how to add and subtract
decimals involving money, the math actions of the sifuafion, and multi-step problems.

Incorrect. The student likely understands how to correctly write dollars and cents as
decimal numbers (even when there s less than 10 cents) and how to add decimals
involving money; however, the student likely does not understand all of the math actions
of this problem situation and may not understand multi-step problems. This answer is the
money that Liz found.

5.NBT.7

Incorrect. The student likely has some understanding of adding and subtracting decimals,
but made a calculation error by forgetting to add the one that was carried.

Incorrect. The student likely has some understanding of adding and subtracting decimals,
but does not understand how to borrow when needed for subtraction and simply started
with the greater digit for sach subtraction.

Incorrect. The student likely does not undsrstand that the decimal points must be lined up
when adding or subtracting decimals.

Corract. The student likely understands how to add and subfract decirnal numbers with
different place values and understands the math action associated with the words “tailer
than’, “less than”, and “combined”.

5.NBT.7

Correct. The student likely understands how to solve problems involving adding and
subtracting rational numbers.

[$r!;c(:))rrect. The student likely added Melinda's total, but did not subtract that total from

Incarrect. The student likely made a calculation error whert subtracting the total from $20.

Incarrect. The student likely does not understand how to add and subtract rational
numbers




Standard

1 5.NBT.7

PERSHEERS .

Rationales

Incorrect. The student likely does not understand the relationship between the defined
whole and the decimal pictorial models and likely has no understanding of the pictorial
models used to represent decimals.

Correct. The student likely understands the relationship of parts to a defined whole for
dectmals, how to represent multiplication of decimals using pictorial models, and how fo
connect a model to an equation.

Incorrect. The student likely does not understand the relationship between the defined
whole and the decimal pictorial models and is freating the decimal pictorial models as
whole numbers.

Incorrect. The student likely has some understanding of the relationship between the
defined whole and the decimal pictorial models, but does not understand how the parts
combine to form a whale or what to do with the decimal point In the answer,

2 5NBT.7

incorrect. The student may have some understanding of the relationship of parts to a
defined whole for decimals, but has no understanding about how fo represent
muliplication of decimals using pictorial models.

Incorrect. The student likely understands the relationship of parts to a defined whole for
decimals, but has no understanding about how to represent multiplication of decimals
using pictdrial models.

Incorrect. The student may have some understanding of the relationship of parts to a
defined whole for decimals, but has no understanding about how to represent
multiplication of any number using pictorial models.

Carrect. The student likely understands the relationship of parts to a defined whole for
decimals and how to represent multiplication of decimals using pictortal models.

3 5.NBT.7

Correct, The student likely understands how to multiply a 3-digit numbar by a 2-digit
number and how to multiply a whole number by a decimal.

Ingorrect. The student may have some understanding about how fo muiltiply a 3-digit
number by a 2-digit number and how to multiply 2 whole number by a decimat however,
the student likely made a mistake in the process when carrying. Otherwise, the student
simply guessed.

Incorrect. The student likely understands how to multiply a 3-digit number hy a 2-digit
number, but does not understand how to multiply a whole number by a decimal.

incorrect. The student likely has no conceptual understanding of multiplication situations
and may not understand how fo multiply a 3-digit number by a 2-digit number or how to
multiply with a decimal. The student likely simply added the two numbers given in the
problem and likely understands how to add a whole number and a decimal number.

4 5.NBT.7

Incorrect. The student likely has no understanding about how to multiply a whole number
by a decimal. The whole number portion of this answer is 14x6 and the decimat portion of
this answer is 14x2.

| Corract. The student likely understands how to multiply a 2-digit number by a 2-digit
)| number and how to multiply a whole nurmber by a decimal,

Incorrect. The student likely has no understanding about how to multiply a whole number
by a decimal and may not understand multiplying a 2-digit number by a 2-digit number
with or without decimals. The whole number portion of this answer is simply 14x6 and the
decimal portion is simply the 0.2 of 8.2.

Incorrect. The student Hkely has no conceptual understanding of muliiplication situations
and may not understand how to multiply a 3-digit number by a 2-digit number or how to
multiply with a decimal. The student likely simply added the two numbers given In the
problem and likely understands how to add a whole number and a decimal number.

5 5NBT.7

Incorrect. The student likely has no conceptual understanding of multiplication sttuations
and may not understand how to multiply a 3-digit number by a 2-digit number or how ta
multiply with decirnals. The student likely simply added the two given numbars.

Incorrect. The student likely has no understanding about how to multiply decimals. The
\évhéale number portion of this answer Is 23x4 and the decimal portion of this answer is
X6,

Caorrect. The student likely understands how to multiply a 3-digit nurnber by a 2-digit

number and how to multiply a decimal by a decimal.




item Standard ‘ Rationales

Incorrect. The student likely understands how to multiply a 3-digit number by a 2-digit
number, but does not understand how to multiply a decimal by a decimal and simply
brought the decimal point down.




item

Standard

5.NBT.7

Rationales

Incorrect. The student likely understands how to multiply a whole number by a decimal,
but does not fully understand how to multiply a 3-digit number by & 2-digit number. This
answer can be obtained by dropping digits that should have been carriad when adding in
the fast step of the process.

Incorrect. The student ikely has no conceptual understanding of multiplication situations
and may not understand how to multi?l¥_a 3-digit number by a 2-digit number or how to
mulﬁgly a whole number by a decimal. The student likely simply added the two given
numbers.

Incorrect. The student likely understands how to multiply a whole number by a decimal,
but does not fully understand how to multipty a 3-digit number by a 2-digit number. This
answer can be obiained by not putting a zero or place holder when multiplying by the
digit that is in the tens’ place.

Correct. The student likely undersiands how to mulliply a 3-cigit number by a 2-digit
| number and how fo multiply a whole number by a decimal.

5,NBT.7

Correct. The student likely understands how to multiply a 2-digit number by a 2-digit
1 number and how to multiply a decimal by a decimal.

Incorrect. The student likely does not understand how to multiply a 2-digit number by a 2-
digit number and does not undersiand how to multiply a decimal by a decimai. This
ahewer can be obtained by not putting a zero or pace holder when multiplying by the
number that is in the tens' place and then simply bringing the decimal point down.

Incorrect. The student likely has no conceptual understanding of muliiplication siluations
and may not understand how to muliiply a 2-digit number by a 2-digit number or how to
multiply decimals. The student likely simply added the two given numbers.

Incorrect. The student likely understands how to multiply a 2-digit number by a 2-digit
number, but does not understand how fo multiply a decimal by a decimal and simply
brought the decimal point down to get 63.0.

5NBT.7

Incorrect. The student likely has no understanding of the relationship of parts to a defined
whole for decimais, no understanding about how to represent multiplication of decimals
using plctorial models, or how to multiply a decimal by a decimal.

Cotrect, The student likely understands the relationship of parts to a defined whole for
decimals and how to represent multipiication of decimals using pictorial models.

Incorrect. The student may have some understanding of the relationship of parts to a

defined whole for decimals, but this understanding is incompleie and is applied

ié‘.ooinsi?tently. The student likely has no understanding of how to multiply a decimal by a
ecimal.

incorract. The student has no understanding of the relationship of parts to a defined
whole for decimals or how to represent multiplication of decimals using pictorial models.
Tll:edstgdent likely just multiplied the number of columns shaded by the umbers of rows
shaded.




Daily Reviews Name:

Answers
1) 912 2) 700+ 700 =
X 64 1
2.
3.
) A+7)-5= 4) If7x6=42, 4.
then 70 x 6 =
5.
5) Use <, > or =to compare. 6) Write the expression below. 6.
6.725 6.275 Find 1/4 of 8 less than 13
7.
7) Reduce if possible. 8) Answer as a mixed number (if 8.
3 1 possible).
R 7 5
e —_— 9.
3 T g
10.
9) Debby was trying to put some files on her flash drive. If she had one file that was
1.90 mb and another file that was 4.7 mb what is their combined file size?
10) yse the visual model to solve: 3 + ]/3 =
[Whole | 1 Whole 1 Whole
1-10 {9080 |70 |60)50(40]30{20)10] 0
Math www.CommonCoreSheets.com Page 1 of 5 el [mleolsololnlznliole]



Daily Reviews Name:

Tuesday Answers
1) 738 2) 100+50=
X 43 1.
2.
3.
3) (1+3)x2= 4) If7x7=49, 4.
then 70 x 7=
5.
5) Use <, > or = to compare. 6) Write the expression below. 6.
5.19 5.190 Find take 1 from 14 and then take
the difference from 29 .
8.
7) Answer as an improper fraction (if 8) Answer as a mixed number (if
possible). Reduce if possible. possible).
2 15 B,6_ i
4 4 3 4
10.

9) Mike bought 8.12 Ibs of cherry and lime jelly beans for his birthday party. If 2.92
1bs were cherry flavor, how many pounds were lime flavor?

10) Use the visual mode! to solve: 4 + 1/2 =

1 Whole 1 Whole 1 Whole 1 Whole

1-10 | 90] 80| 70 | 6050 [40[30]20{ 10} 0 |
Math www.CommonCoreSheets.com Page 2 of 5




Daily Reviews

Name:

Wednesday

1) 932 2) 6,000 +3,000=

X 99

3) (10x6)+4=

5) Use <, > or = to compare.
1.33 1.330

7) Answer as an improper fraction (if
possible). Reduce if possible.
1 3

v X 3-—.—:

2 4

4) If5x5=25,

then 500 x 5=

1

§ o .

2

6) Write the expression below.
Find 9 more than, 6 plus 5

1 _
2=

8) Answer as a mixed number (if
possible).

9) Paul was weighing the amount of candy he received for Halloween. If he received
1.48 kg and his brother received 8.1 kg, how much candy did they get all together?

10) Use the visual model to solve: 3 + 1/4 =

1 Whole 1 Whole

1 Whole

Answers

10.

Math

www.CommonCoreSheets.com

Page 3 of 5

1-10 [ 901380 |70

60150f40]30]20]10] 0]




Daily Reviews Name:

Thursday Answers

1) 910 2) 180 + 60 =
X 05 1.
2.
3.
3) 4+2)+3= 4) If5x2=10, 4,
then 50 x 2 =
5.
5) Use <, > or = to compare. 6) Write the expression below. 6.
32 3.6 Add 8 and 2 and then multiply by 5
7.
7) Answer as an improper fraction (if 8) Answer as a mixed number (if 8.
possible). Reduce if possible. possible).
2 3 1 7
— W — 2 — DT 9_
373 % 2
10.

9) During a science experiment, Mary found the mass of two rocks to be 42.91 grams
and 58.8 grams. What is the total mass of these two rocks?

10) Use the visual model to solve: 5 + l/3 =

1 Whole 1 Whoie 1 Whole 1 Whole 1 Whole

1-10 [90]80 70l 60 50]40]30]20f 10] 0 |
Math www.CommonCoreSheets.com Page 4 of 5



Daily Reviews Natne:

Answers
1) 279 2) 4,500 + 500 =
x 36 1
2.
3.
3) 4x3)+~4= 4) If6x9=>54, 4.
then 600 x 9 =
5.
%) Use<,>or=to compare. ' 6) Write the expression below. 6.
6.532 6.235 Find the product of 6 times 2 less
than 9
7.
8.
7) Answer as an improper fraction (if 8) Answer as a mixed number (if
possible). Reduce if possible. possible).
N U v ,1 >
4 2 5 3
10.
9) Frank was training for a marathon, On his first day he ran 1.49 kilometers. On the
second day he ran 1.9 kilometers. How far did he run altogether?
10) Use the visual model to solve: 3 + 1/2 =
1 Whole 1 Whole 1 Whole
1-10 |90 [ 8070 [ 60 50{40]30]20]10] 0 |
Math . www.CommonCoreSheets.com Page 5 of 5



Daily Reviews

Name:

Answer Key

Monday
1) 912
X 64
3,648
+54,720
58,368

2) 700 +700=

3) 1+7-5= 3

5) Use <, > or = to compare.
6.725 > 6.275

7) Reduce if possible.

X

b

m|m m[m

1
4
1_3
4 8

1

4) If7x6=42,
then 70 x 6= 420

6) Write the expression below,
Find 1/4 of 8 less than 13

8) Answer as a mixed number (if
possible).

7 5
=

3
28 15 7

12 12 12

9) Debby was trying to put some files on her flash drive. If she had one file that was
1.90 mb and another file that was 4.7 mb what is their combined file size?

10) yse the visual model to solve: 3 + 1/3 =

1 Whole 1 Whole 1 Whole

N O T O N

Answers

58,368

1

3

420

>

(13-8)+4

%

3 %

6.6

10.

9

CMathj www.CommonCoreSheets.com

1-10 |90 [80]70] 605040130 20 10] 0 |

Page 1 of 5



Daily Reviews Name:

Par

Answer Key

Tuesday
1) 738
x 43
2,214
+29,520
31,734

2) 100+50=__ 2

HA+3)x2= 8 4) If7x7=49,

then70><7=__j9_0____

5) Use <, > or = to compare.
5.19 = 5,190

6) Write the expression below.
Find take 1 from 14 and then take
the difference from 29

7) Answer as an improper fraction (if 8) Answer as a mixed number (if

possible). Reduce if possible. possible).
2 15 13,6
4 4 3 4
2 ,15_30 2, B85
4 4 16 12 1 12

9) Mike bought 8.12 Ibs of cherry and lime jelly beans for his birthday party. I£2.92
Ibs were cherry flavor, how many pounds were lime flavor?

10) Use the visual model to solve: 4 + 1/2 =

Answers

31,734

2

8

490

29-(14-1)

30 15
/16 = /s

5'%,

S.2

10.

8

1 Whole 1 Whole 1 Whole 1 Whole
1-10 |90 |80 ]70 6050401301 20]10] 0 |
Math www.CommonCoreSheets.com Page 2 of 5



Daily Reviews Name:

i,

Answer Key

Wednesday
1) 932
X 99
8,388
+83,880
02,268

2) 6,000+3,000=__ 2

3) (10x6)+4= 64

4) If5x5=25,
then 500 x 5=__ 2500

5) Use <, > or =to compare.

1.33_ = 1330

6) Write the expression below.
Find 9 more than, 6 plus 5

7) Answer as an improper fraction (if 8) Answer as a mixed number (if

possible). Reduce if possible. possible).
1 3 1 1
737" Sy 27T
_1.. % l.s-. = _1_5. 5 _3"" -2 i =3 —1'
5 7 8 6 6 6

9) Paul was weighing the amount of candy he received for Halloween. If he received
1.48 kg and his brother received 8.1 kg, how much candy did they get all together?

10) Use the visual model to solve: 3 + i/4 =

1 Whole 1 Whole 1 Whole

N A N O A A

Answers

92,268

2

64

2,500

(6+5)+9

15
/s

37

9.58

10.

12

Math

1-10 o080 f70] 6050 [40{30]20{10] 0 |

www.CommonCoreSheets.com Page 3 of 5



Answer Key

S Daily Reviews Name:
Thursday
1) 910 2) 180+60= 3
X 95
4,550
+81,900
86,450

) 4+2)+3= 2 4) If5x2=10,

then S0 x 2= 160

5) Use <, > or =to compare.
32 < 36

6) Write the expression below.
Add 8 and 2 and then multiply by 5

7) Answer as an improper fraction (if 8) Answer as a mixed number (if

possible). Reduce if possible. possible).

(2 3 LT
3 4 2 4
n,3.® SERLA]
3 4 12 444

9) During a science experiment, Mary found the mass of two rocks to be 42.91 grams
and 58.8 grams. What is the total mass of these two rocks?

10} yse the visual model to solve: 5 + 1/3 =

Answers
1. 86,450
2. 3
3, 2
4, 1060
5. <
6. _ (8+2)x3
., 33/]2 _n .
. /4
9. 101.71
10. 15

1 Whole 1 Whole 1 Whole 1 Whole 1 Whole
| L ] || L
Math 1-10 (908070 60 5040 3002010 0]
www.CommonCoreSheets.com Page 4 of 5



Daily Reviews

Name:

Answer Key

2) 4,500+ 500 =

3) 4x3)+4= 3

5) Use <, > or = to compare.
6.532 > 6.235

7) Answer as an improper fraction (if
possible), Reduce if possible.

1 1
3 a x 3 3 =
13 7 91
— X —_— ———
4 2 8

4) If6x9=54,
then 600 x 9=__ 5400

6) Write the expression below.
Find the product of 6 times 2 less
than 9

8) Answer as a mixed number (if
possible).
19

9) Frank was training for a marathon. On his first day he ran 1.49 kilometers. On the
second day he ran 1.9 kilometers. How far did he run altogether?

10) se the visual model to solve: 3 + 1/2 =

1 Whole 1 Whole 1 Whole

l ] |

Answers

10,044

9

3

5,400

=

9-(6x2)

91
/s

L /s

3.39

10.

6

Math

www.CommonCoreSheets.com

1-10 [ooTsof70]60]50]40[30[20]10] 0 |
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Standard

5.NBT.3b

Rationales

anqrrecl;t. The student likely has no understanding of how to compare and order
ecimals.

answer choice that was ordered greatest to least.

Incorrect. The student likely understands how to compare two decimals, but selected the

Correct. The student likely understands how o compare and order decimals to the
thousandths.

D Incomrect. The student likely has no understanding of how to compare and order
decimals.

5.NBT.3b

Incorrect. The student likely has no understanding of how to compare decimals.

Correct, The student likely understands how to compare decimals.

H Incorrect. The student likely has no understanding of how to compare decimals.

the meaning of the inequality symbois,

5.NBT.3b

who selected this answer cholice.

incorrect. The student may understand how to compare decimals and simply confused

Incorrect. The student likely has no idea how to compare decimals and/or represent
A comparisons using symbols. The symbol Is most likely the point of confusion for students

tenths, hundredths, and thousandths.

Incorrect. The student likely has no idea how fo compare decimals and/or represent
B comparisons using symbols. The student likely does not understand place value for

fenths, hundredths, and thousandths.

Incorrect. The student likely has no idea how to compare decimals and/or represent
C comparisons using symbols. The student likely does not understand place value for

Correct, The student likely understands how to compare decimals and represent
# comparisons using symbols.

5.NBT.3a

thousandths using expanded notation.

incorrect. The student likely understands how to write whole numbers using expanded
F notation, but does not understand decimal place value or how to write decimals to the

thousandths,

Incorrect. The student may some understanding of expanded notation, but does not
G understand how to correctly represent place value of whole numbers or decimals to the

ncludes decimals to the thousandths using expanded notation.

Corract. The student likely understands place value and how to write a number that

thousandths.

5.NBT.3b

ncorrect. The student likely does not understand decimal place value.

Incorrect. The student may some understanding of expanded notation, but does not
J understand how fo correctly represent place value of whole numbers or decimals to the

how to represent that comparison using symbols,

4 Correct. The student likely understands how to compare decimals to the hundredths and

two numbers.

G Incorract. The student likely does not understand inequality symbols used to compare

two numbers.

0 Incorrect. The student likely does not understand ineguality symbols used to compare




Standard

6 5.NBT.3a

Rationales

Incorrect, The student likely understands how to write whole numbers using axpanded
notation, but does not understand decimal piace value or how to write decimals to the
thousandths using expanded notation.

Incorrect. The student may some understanding of expanded notation, but does not
?hnderstag:ﬁ how to correctly represent place vaiue of whole numbers or decimals to the
ousandths.

Incoirect. The student doss not understand how to correctly represent place value of
whole numbers or decimals ta the thousandths.

Correct. The student likely understands place value and how to write a number that
includes decimals to the thousandths using expanded notation.

7 5.NBT.3b

Incorrect. The student likely does not understand decimal place value and likely gets
confused when given the word representation of a decimal number.

Incorrect. The student likely does not understand decimal place value or how to

represent decimals in expanded form,

Correct. The student likely understands how to represent decimals in expanded farm and
wards, how to compare decimals to tha thousandths, and how to represent those
comparisons with symbols.

Incorrect. The student likely doas not understand decimal place value and likely gets
confused when given the word representation of a decimal number.

8 5.NBT.3b

Correct. The student likely understands decimal place value and how to compare
decimals.

Incorrect. The student likely understands how to compare whole numbers, but has no
understanding of decimal place value or how to compare decimals.

Incorrect. The student likely has no understanding of decimal place value or how to
compare decimals.

Incorrect. The student iikely has no understanding of decimal place value or how to
compare decimals.

9 5.NBT.3k

Incorrect. The student fikely does not understand decimal place value.

Incorrect. The student likely does not understand decimal place value and may not
understand how to use symbols to represent comparisons.

Incorrect. The student likely does not understand decimal place value and may not
understand how to use symbols to represent comparisons.

Correct. The student likely understands decimal place value, how to compare and order

.| decimals to the thousandths, and how to represent those comparisons with symbols.




Solve each problem.

Understanding Multiplying By 10s Name:
Answers
1) If9 x3=27,then90 x 3 =
. 1-
2) If3 x2=6,then300x 2=
2,
3) If10x 6=160, then 10,000 x 6=
3,
4) If 6 x 9 =54 , then 6,000 x Q= _
4,
5) If3x 9=27,then300 x 9=
5.
6) If2 x5=10, then 200 § ==
6.
7) If3 x 4=12, then 3,000 x4 =
7.
8) If5 x 4 =20, then 5,000 x 4 =
8.
9) If 10 x9=90, then 10,0600 x 9 =
: 9,
10) If5 x2=10,then 50 x2=
10.
11) 1f8%x2=16,then8 x20=
11
12) If4x3=12,then4 X 3,000 =
12.
13) If4 x 10=40, then 4 x 100 =
13.
14) If1%x3=3,thenl x 300 =
14.
15) If9x1=9,then 9 x 100 =
15.
16) 1f5x8=40,then5 x 80=
16.
17) If3 x10=30, then 3 x 10,000 =
17.
18) If3x3 =9, then3 x 30 =
18.
19) If7x5=35,then7 X 500 =
19.
20) If4 x 6 =24, then 4 x 600 =
20.
ﬁ 710 195 190 85| 80 | 75 [:70.].65]60.]:55 150
Math www.CommonCoreSheets.com 9 11204540 135130f251201 151101510




1y

3)

5)

7

9

11)

13)

15)

17)

19)

. Multiplying and Dividing Powers of Ten Name:
Solve each problem. Answers
_ 547 x 10* L . _ 236+ 10 _
i ThlS is the same as saying: - EIREEE  Division'is the same way. Only L
547X (10% 10 x:10:X. 10)- mstead ofmovmg the: decunal nght o
: And because the base is 10 you can - ' you move it left Y 5
- f : 'ust move the decimal 4 places to the s 0 23 6 '
: rlght to solve -
s S You can. also multlply anegatlve ()
*exponent, wi v :h';--means the same - -
4.
5.
743.6 + 10° 2) 551.958 x 10*
6.
75.675+10° 4) 53x10° 7
, 8.
33+10 6) 362x10'
9,
233.556 + 10° 8) 992.84 x 10° 0
538.1+10° 10) 8283 x10° -
12
7.2+10" 12) 89.565 x 10°
13.
52.55 + 10° 14) 21.45x10* 14.
15.
1.5+10° 16) 858.42x10°
16.
47315+ 10° 18) 54.57 x 10* 17.
18.
432291 +10° 20) 678.11x10°
19.
20.
[ ] 1-10 95908580 75 | 70 ['65.] 607 55 50
Math www.CommonCoreSheets.com 7 1120145 40735430125 (201 151101 5 [ 0




Solving Decimal Word Problems with Power of Ten ~ Name:

Solve each problem. Include as many decimal places as possible.

1) A round trip from Emily's house to the grocery store is 7.10 miles. Emily estimates since

2)

3)

4)

)

6)

7)

8)

9)

10)

11)

12)

she moved into her house she has gone 1,000 times. How many miles would that mean
Emily has travelled?

Janet was looking on the internet for packing paper. She found a seller that was offering

100 linear feet of paper for $4.55. What is the price per linear foot?

At the hardware store Tiffany bought a box with 1,000 nails and paid $20.14 total. What is
the price per nail?

An internet company offers internet service with a cap of 100 gb for $9.36 per month.
What is the price per gb?

A fair food booth was having a sell on burger combos. Each combo cost $5.91. If they
estimate they will sell 10,000 combos over the course of the fair, how much money will
they make?

A toy company paid $42,742.70 for a 30 second TV ad. Later they learned that an
estimated 10,000 children had viewed the ad. How much money did they pay per viewer?

An electrician paid $218.15 total for 1,000 feet of wire. How much does he pay per foot of
wire?

A ticket to the carnival cost $8.90. If there is going to be an estimated 1,000 people
attending the carnival, how much money will be made in ticket sales?

Paul has put 1,000 hours into playing an online video game. He has paid $971.94 over the
course of the entire game. How much did he pay per hour played?

A bag of 100 cherries weighs 69.30 ounces. How many ounces does each cherry weigh?

Robin's mom decided to wallpaper the living room. At the store, the wallpaper was selling
for $14.78 for a roll with 100 linear feet. What is the price per lincar foot of the wallpaper?

A typical business card is 0.275 mm thick. If a company ordered 10,000 business cards and
placed them all into a single stack how tall would the stack be (in mm)?

Answers

10.

11.

12.

58 [ 50142 [ 3312517

Math www.CommonCoreSheets.com 11-121 8. k0

4 1-10 [ 921837567



. Marking Locations on a Grid Name:
Draw a circle at the coordinates listed. e e .
¥ i _ A K Coregt beve
n G, 2) (0,3 3 8,4
Z ' A -
PX
4 (2,6) 5 (7,6) 6 (1,3)
F'3
7 (9,6) 8) 4,1 9 8,9
A .
—y >
10) (3,4) 11) (8,5 12) (7,7
A
>
[ j 10 192[83]75] 6758 0] a2]33f2s]17]
Math www.CommonCoreSheets.com 1 11-12[:8 1.0:



Reading Coordinate Planes Name:

Determine which coordinate plane answers each question. Answers
A Y B. Y
10 J 19) 1.
9 9
8 D) 8
7 [ 7 8
6 |3¢ 6 ] ¢
5 5 3.
4 4 \
3 3@ s,
2 2
1 e 5
0 56 o AR IR '
c. Y p. Y "
10}—-3% 10 @—i—'
9 9 7.
; ; A
7 7 -O 8.
. b 6
5 5 9,
4 4 S F
3 3
) 5 10.
1 i 1
it —— —— —— ]-1-
s B B T B A A T o T X
12.
1) Which coordinate plane has a shape at (1 , 1)?
2) Which coordinate plane has a shape at (8 , 3)? B
3) Which coordinate plane has a shape at (7 , 1)? '
4) Which coordinate plane has a shape at (1, 5)? 1
5) Which coordinate plane has a shape at (5 , 10)? '
6) Which coordinate plane has a shape at (2 , 6)? 15
7) Which coordinate plane has a shape at (4 , 7)?
8) Which coordinate plane has a shape at (9, 10)?
9) Which coordinate plane has a shape at (2, 10)?
10) Which coordinate plane has a shape at (8 , 0)?
11) Which coordinate plane has a shape at (6 , 7)?
12) Which coordinate plane has a shape at (10, 10)?
13) Which coordinate plane has a shape at (10 , 8)?
14) Which coordinate plane has a shape at (8 , 4)?
15) Which coordinate plane has a shape at (5 , 6)?
1-10 [93]87]80] 73 [67[60[53 147 40]33]
Math www_CommonCoreSheets com 5 11-15 271 20413 2 h0



Using Grids in Real World Context Name:

Use the grid to solve each problem.

i‘ﬂ = (Gas Station
9 = Mall
[] =1 square Mile

A ;
A
N
"l
D
-
B
y
o
li
o8 L

— A

)

2)

3)

4)

)

Which gas station is closest to the mall?

Which gas station is furthest from the mall?

If you were to go 3 miles east and 2 miles north
from the mall which gas station would you end
up at?

Which gas station is further east? Station G or
Station D?

Investors wanted to build a new gas station, but
wanted to make sure it was at least 2 miles from
a pre-existing station. Should they build a gas
station 8 miles east and 10 miles north of the
mall?

6) Which well is closest to the water tower?
7) Which well is furthest from the water tower? v

8) If you were to go 1 miles east and 8 miles north J@
from the water tower which well would you end

up at?

9) Which well is further north? Well W or well V?

10) A new law says you can't build a well within 2
miles a pre-existing well. If you wanted to build
a well 8 miles east and 9 miles north of the

water tower, would you be allowed to?

@ =wel

% = Water Tower
D =1 Square Mile

o @
N ®

@ ®
T e
®

Answers

10.

so [0 30201 10]:0 ]

[ j 1-10 [90] 80| 70| 60
Math www.CommonCoreSheets.com 8



D

2)
3)
4)

5)

7)

8)

9)
10)
11)
12)
13)
14)
15)
16)
17)
18)
19)

20)

Fill in the blank to make each conversion true. ADswers
One trick to remember the American Capacity . 8 Ounces = 1 Cup -
convers;ons istor remember the numbers S TR 2 Cups : __1 Pmt : L.
2
3.
ounces = 2 cups 4.
ounces = 9 cups 5.
ounces = 5 cups
6.
cups = 32 ounces
7.
cups = 80 ounces
= : g
cups = 8 pints
cups = 5 pints 9.
cups = 2 pints o
pints = 12 cups
1.
pints = 18 cups
) 12,
pints = 7 quarts
pints = 4 quarts 13.
quarts = 18 pints 14,
quarts =4 pints iy
quarts = 12 pints
16.
quarts = 5 gallons
17.
quarts = 4 gallons
quarts = 9 gallons 18.
gallons = 24 quarts 19.
gallons = 32 quarts 0
1-10 [95] 908580 75 | 70| 65.] 601551 50.
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Converting American Capacity

Name:




1)

2)
3)
4)
3)
6)
7)
8)
9)
10)
11)
12)
13)
14)
15)
16)
17)
18)
19)

20)

Converting American Lengths Name:
Fill in the blank to make the conversion true. Answers
8 feet= inches
1.
9 feet= inches
. 2,
10 feet = inches
3,
3 feet= inches
4,
5 feet= inches
5.
10 yards = feet
6.
6 yards = feet
7.
1 yard = feet
" s
2 yards = feet
9.
9 yards = feet
10.
feet = 3 yards
| 11.
feet =7 yards
12,
feet = 8 yards
13.
feet = 5 yards
14.
feet = 4 yards
15.
inches =7 feet
16.
inches = 2 feet
‘ 17.
inches = 1 foot
18.
inches = 4 feet
19.
inches = 6 feet
20.
1-10 [95]90 [ 85[80] 75 [-70:] 65 60| 55 [ 50:
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1 Solving with Parenthesis Name:

Solve each problem. Answers
1) 16+(10-5)
1.
2) (42-2)+9
_ 2.
3) (28+33)+6
3.
4) 4%x(9+3)
4,
5) 105-(8x4)
5.
6) 9x(4x10)
6.
7 T4+(4%x3)
7.
8) (6x4)-18
8.
9) (71-42)-9
9.
10) (9x7)x6
10.
11) (67-56)x10
11.
12) (8+2)x4
12.
13) 27+(10+2)
13.
14) (93-7)+64
14,
15) (56+7)+18
15.
16) (5x4)+2
16.
17) 43+(26+37)
17.
18) (7x7)+4
18.
19) 5x(2+8)
19.
20) 49+(83-59)
20.
Math www.CommonCoreSheets.com 8 111-1200 491; zg 23 gg ;g gg ?i ?g 555




; Fractions as Division Problems Name:

Solve each fraction as though it were a division problem. Write your answer as a fraction.

Answers
B 38, 8 D13 _ D5 _ ;
10~ 10 2 T 7 Bx 3 /i
1.
9 _ 9 14 _ 9 51 _ :
2 3 5 3.
4,
6) 23 _ N5 _ 8 7 _ >
3 7 3
6.
7.
9 57 _ 10 48 _ 1) 20 _ :
6 10 6
9.
10.
12) 11 _ 13) 34 _ 4 27 _ B
3 5 6 '
12.
13.
15 9 _ 19 13 _ M 14 _
4 5 5 14
15.
16.
18) 23 _ 19) 47 _ 20) 18 _
4 10 5 17.
18.
19.
20.
C '] 1-10 (95908580175 [:70°F 6560 55150
Math 10 11-20 4514073513025 15/1o]510
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Identify the Eclipse

N et Class!
P fven: Date:

Biireclius blzteh e oomrect kerwa wih e description gisen.

USK#ee

Hmtar eclipse T Lamar eclipae ? Can you bedl Bie it beme e hutwens These?

a

V.nirrar eetigre | | Lumar eclipse
e 18
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4/20/2020 IMG_5493 jpg

Nama: {lasa:
Teachar: Datn:

Directions: Raad the paragraph. While you read circle at least eight characteristics or

words we ¢an use to deseribe stars. Wiite one of the eight different charactetistics in each

of the rays of tha sun picture.

ﬁﬁﬁ&ﬁk#ﬁ%*ﬁﬁ'%&##ﬁ#ﬁ#wﬁrﬁﬁﬁ:ﬁﬁ‘ﬁ'ﬁﬁ'ﬁ"-ﬂfﬁrﬁ-*%ﬁrﬁ:#ﬁ-ﬁ

Our sun is really a star, The Sun has the same characteristics as the other
stars that we can see in the sky., Because the Sun is the closest star to
Earth, the sun looks much larger than the other stars. The other stars in the
night sky look like small points of light. The distance of stars from an
observer affects the apparent size of the stars. The Sun is the only star in
our solar system. The Earth and our other planets in our solar system
revolve around the Sun,

USKT5rer

R IS TP AR TR IR
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Phases of the Moon
Name: {lass:

Teacher: Buate:

Directions: Match each item to its corresponding space below.

Trizel quar i |
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% PREP

Yewar Classraorm Pariner
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Seasons
W11 Class:
Teweher: BDate:

Divections: Complete each sentence with a word from the bank.

Word Bank
Ereaeet Morth Srar SUAEENET opposite
swxial il degreased

increased lease winter seaso il
1. Earth orbits the Sun every 365 days, causing patterns that vary by
location.
2. Earth’s is most responsible for seasonal changes.
3. Earth's axis is always pointing toward the during its orbit.

4. Throughout the year, Northern and Southern Hemispheres experience
seasons and different day lengths,

5. During the sumimer, the Northern Hemisphere is tilted toward the Sun, receiving the
amounl of solar energy than any other time of the year.

6. During the summer, warmer temperatures and dayhight can be expecied.

7. During the winter, the Northern Hemisphere is tilted away from the Sun, receiving the
amount of solar energy than any other iime of the year.

8. During the summer, cooler temperatures and daylight can be
expected.

9, in the Southern Hemisphere is around December to March.
10, in the Souihern Hemisphere is around June to Seplember.
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The Sun is a Star

Taacher Key

Our sun is really a star. ‘The Sun has the same characteristics as the other stars
that we can see in the gky. Because the Sun is the closest star to Earth, the
Sun looks much larger than the other stars, The other stars in the mght sky
look like small points of hght The digtance of stars from an observer affects
the apparent size of the stars. The Sun is the only star in our solar system.
The Earth and our other planets in our solar system tevolve around the Sun,
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Phases of the Moon - Key

Name: Cinss:
Teacher: Date:

Directions: Match eoch item o ils corresponding space below,

First quarter .

Waxing g.ibbh-i:l.é N

Fll moon

] .
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